HCT 0216

 [image: image1.jpg]AND

TECHNOLOGY FOR DEVELOPMENT





W1-2-60-1-6

JOMO KENYATTA UNIVERSITY 
OF 
AGRICULTURE AND TECHNOLOGY
University Examinations 2014/2015
SECOND YEAR SECOND SEMESTER EXAMINATION 
FOR DIPLOMA IN BUSINESS INFORMATION TECHNOLOGY
HCT 0216:  COMPUTER NETWORKS
DATE:  AUGUST 2014

  



    
  TIME: 1½ HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS

Question One (30 Marks)
a) 
What is throughput?  Mention any four factors that determine throughput.
(10 Marks)


b)
Given bandwidth of 10Mbps and you need to download a file of 400Kb.  What time will it take to accomplish the download process which other factors remain constant?  Your answer should be millisecond (Note 1Mb = 1,000Kb and 1 sec = 1,000 milisec).











(10 Marks)

c)
(i)
With the aid of diagrams explain star topology and ring topology.
(6 Marks)


(ii)
Write two advantages and two disadvantages of each topologies above.











(4 Marks)

Question Two (20 Marks)
a)
What is OSI model?







 (3 Marks)

b)
Explain seven layers of OSI models.





(14 Marks)

c)
Mention common devices used in layer 3, 2 and 1 of OSI models.

(3 Marks)

Question Three (20 Marks)
a)
Give two differences of the following terms:




 

(i)
Peer to peer and client/server architecture. 



(4 Marks)


(ii)
TCP and UDP protocols





(4 Marks)


(iii)
MAC and IP address






(4 Marks)
b)
Determine the classes of the following IP addresses:






(i)
197.129.12.23







(2 Marks)


(ii)
125.234.34.56







(2 Marks)


(iii)
79.25.120.65







(2 Marks)


(iv)
167.120.200.15






(2 Marks)

Question Four (20 Marks)

a)
Briefly explain any four (4) network devices.



(12 Marks)

b)
Briefly explain the following network technologies:


(i)
Ethernet







(4 Marks)


(ii)
Token Ring







(4 Marks)







PAGE  
1

